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1 Introduction
In last RAN4 meeting, [1][2] show the details of simulation results for FR1 IAB. In this paper, we update the FR1 IAB co-existence simulation results and give ACLR/ACS requirements for discussion.
2 Discussion
2.1 Simulation assumption
In this paper, we focus on the FR1 layout1 interference scenario and analyse the ACLR and ACS requirement for IAB-MT. In our simulator, IAB node is dropped randomly with the 40-meter minimum distance between donor and child IAB. In each cell of donor IAB only one child node is active. 
The details of interference scenario are shown below:

· IAB UL interfering gNB to calculate the IAB-MT ACLR
· gNB DL interfering IAB to calculate the IAB-MT ACS
Table 1: interference scenario
	Interference scenario
	aggressor
	victim
	ACLR
	ACS

	UL-UL: IAB interfere gNB
	MT->DU
	UE->gNB
	TBD for IAB-MT
	45 for gNB

	DL-DL: gNB interfere IAB
	gNB->UE
	DU->MT
	45 for gNB
	TBD for IAB-MT


In our simulator, we use the following simulation assumption[3]:
Table 2: simulation assumption

	Micro IAB-node deployment
	Random drop, 1 micro IAB-node in a donor cell

	Minimum distance between donor and IAB child
	40m

	MT-power control
	-
CLx-ile = 91 + 10*log10(100/X)- , where X is UL transmission BW (MHz)

-
γ = 1

	Throughput loss criteria
	5-tile edge user throughput


2.2 Simulation results
For FR1 IAB-MT, RAN4 focus on the discussion of whether to reuse the UE ACLR and ACS requirements for IAB-MT. Therefore, we simulate to check whether the 30dBm ACLR and 33dBm ACS requirement could meet the 5% throughput requirements. 
	Interference scenario
	Check whether the UE ACLR and ACS requirement could apply to the IAB-MT

	IAB interfere gNB
	30dB ACIR achieve 4% throughput loss corresponding to 30dB ACLR and 45 dB ACS(gNB)

	gNB interfere IAB
	33dB ACIR achieve 0.5% throughput loss corresponding to 45dB ACLR(gNB) and 33 dB ACS


3 Conclusion
This contribution analyse whether the same legacy UE ACLR and ACS requirements could apply for the IAB-MT and have the following conclusions: 

With the 40-m minimum distance assumption between donor and child IAb, 30dB ACLR and 33dB ACS could meet the 5% throughput loss requirement.
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